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ANOTHERINTEGRAL

FROM HW 2

- In problems 18,4 you encounter two sorts of integrals ,
of

the form

E¥uII+ep .
and Ii¥Ipn

The 1st can be done w/ the substitution u -
- I x - x' Hy 't -22

.

But the 2nd  is trickier
. Forgetting the factor in the

numerator
,

which does not  depend on x
'

,
we need

to evaluate something like :

[¥H ' 4×+1,2%312 w/ I  
= 472-2 in this case .

Consider the substitution X - X
'

= a tan u
.

X - X
'  
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= x' xltanutl ) = LZ see 're
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= - tzzfdu cos u = - I ,
Sinn

= - the sin ( tan -  ' ( ¥
'

) ) x - x '
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